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19,777,087 20, 110,940 £333,853
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< 185,028 185,028 0

2 19,565,653 19,899,506 £333,853
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< 54,223 54,223 0

2 6. 161,440 6.565.513 £404,073
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2 733,549 846,789 A113,240
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2o o3 0 8,840 8,840

201 et | 0 8,840 8,840
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OZTHHIE B4 L #EE MY 0% 0 2,000 £2,000

OFOIAAAE L ZUEDH RO 02 0 3,000 £3,000
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OF A9 ALY &It M SAH 0% 0 3,840 £3,840

20103 A 15,530 61,830 46,300
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01 L E 0 6.300 £6,300
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OMEIR 243 02 0 2,000 £2,000

O3S 243 0% 0 300 A300

OMX=E Bolg 243 02 0 4,000 £4,000

I HO A0S 69,860 112,960 A43,100

201 YerE | 56,900 80,000 £23,100
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40,000 30,000 10,000
(XA ) 40,000 30,000 10,000

suY 24 s
10,000,000 * 14! 10,000 0 10,000
ALl 29 10,000 24,000 A 14,000
301 LeHBAF 10,000 24,000 A 14,000
04 tSLHUHLH XS 10,000 24,000 A 14,000
OS2yl Hgsl sotsuHal 0& 0 10,000 A 10,000
O XesLyil 2263 U 0& 0 4,000 A 4,000
HOEXNE X = 0 6,100 A6,100
301 LerEAF 0 6,100 A6,100
09 AL HIXI& 3 0 6,100 A6,100
OFZ2MOIS XS XH0H 3l 0% 0 4,100 £4,100
OMDOIE S2us 0& 0 2,000 A 2,000
OlchXIed WKI|B &= 499,875 709,581 A 209,706
g 2a 183,726 318,776 A 135,050
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OFQDA BYOSIED 228 7Y 02 0 2,000 A2,000
202 04l 103,576 166,576 263,000
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Fo AL 17,020 23,020 A 6,000
FURNXNEEH 2 7,020 13,020 A 6,000
201 LEr2A | 5,820 11,820 A 6,000
03 AH2 S HI 4,000 10,000 A 6,000
OFLUXXHH 23 W=
4,000,000& 12 4,000 10,000 A 6,000
HE5 NEER A 1,750,300 1,798,813 A 48,513
< 95,305 95,305 0
s 1,654,995 1,703,508 A 48,513
NEEHAHE XEFE UIAH 1,750,300 1,798,813 A 48,513
= 95,305 95,305 0
[ia 1,654,995 1,703,508 A 48,513
AN n=sads 1,726,900 1,758,413 A 31,513
= 94,605 94,605 0
G 1,632,295 1,663,808 A 31,513
308 XXIEHH SO0l A 998,170 1,029,683 A 31,513
=) 94,605 94,605 0
i 903,565 935,078 A 31,513
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O¢tdxzssl HEE8 KNIAAMS
1,956,010& 14! 1,957 15,000 A 13,043
ssstd sl & A& 22,000 39,000 A 17,000
301 LerBAF 22,000 39,000 A 17,000
02 ¥et=stit= 22,000 39,000 A 17,000
Oze Nsstd stits XEAS
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01 g=2g= 5,943,011 5,404,246 538,765
O¢=sRE= 3,840,292,000& 14 3,840,292 3,718,147 122,145
O&X+ZR2E=3 1,326,474,000& 14 1,326,474 931,727 394,747
OMot2aRE= 81,470,000 =14l 81,470 78,908 2,562
O¢Hs32d3 694,775,000 * 14! 694,775 675,464 19,311
02 ZAHLEES 1,384,550 1,495,030 A 110,480
OIZAZEERE S 1,384,550 1,495,030 A 110,480




W
= oH

0 KO

T =

ol | ||| v v o~
ol sl e e gl ! 5
n0 e
Klo 4
El
E=]
o o o o o (@) o () o
oK IR NEIR IR
N~ [Te) Y] o) o) o)
NN NN NN
3T <
R0 -
m
o < < < < < [To I O
o [eV) (V) [eN) [a\] Al <
DN NN NN -
A_W [ [ [ [ [
N
3r -
<
=3
3 o o
~— o o o
~ o o o
9 S S S
or ) Nowo oy
X0 ? -
A 001
. . w —_
3 o WNI
=z |08 =
I+ o =
—_ O
T m ol al
. o] < <
- 00 » qra 0
= |o el !
= R
0 3o w3
ol | o 70
- |2 T B0
o O N K4 0
o Y i B =
al S|D ™ & 3l
- nr m | 0 %0 40
I wol - urour ool
RO wlo[< O O O
. | = N
g Ww| < |’ |
1 ] <) ”E
k o | H
=




